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No. of Questions : 50
el @t e r . 50

Time : 2 Hours Full Marks : 200
g ;2 gue gorfss : 200
Note: (1) This Question Booklet contains 40 Multiple Choice Questions

(2)

{3)

followed by 10 Short Answer Questions.

T 9 gRIH F 40 axgfre 7 10 @Y S me ¥

Attempt as many MCQs as you can. Each MCQ carries 3 (Three)
marks. 1 (One) mark will be deducted for each incorrect answer.
Zero mark will be awarded for each unattempted question. If
more than one alternative answers of MCQs seem to be
approximate to the correct answer, choose the closest one.

WWH@@%W%W#IWW
9% 3 (@) it a ¥ u@® T gwK B 1 (Th) 3
mmlq@maﬁﬁﬁﬁﬂsﬁwmﬁmlaﬁ

Answer only 5 Short Answer Questions. Each question carries
16 (Sixteen) marks and should be answered in 150-200 words
Blank 5 (Five) pages attached with this booklet shal] only be
used for the purpose. Answer each question on separate page,
after writing Question No.
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01.

02.

03.

04.

Who gave the concept of Table Revolution in India ?

(1) M.K. Gandhi (2) Vinoba Bhave

(3) Jayaprakash Narayan (4) Ram Manohar Lohia
R 7 wgel i @ e fraa R ?

(1) wern iR (2) fasiem g

(3) STHIHIST ATTHOT (4) I HArET AT

When the demand curve is vertical it represents :
(1) Perfectly elastic demand (2) Highly elastic demand

(3) Highly inelastic demand (4) Perfectly inelastic demand
S AT 956 Gl Bl O g8 A DHIal ©

(1) goia: AR A5 (2) ST @rEER AN
(3) orafees =R q@i (4) yofa: S=RIR AR
Which Governor General prohibited the ‘Sati System’ in India ?
(1) Lord Lytton (2) Lord Dalhousie

(3) Lord William Bentinck (4) Lord Ripan

fopg TEWY SR 9 ARG Wl gur @ gfoatad fear ?
(1) @ fere T (2) e SRH

() e Tk dies (4) @ne Ra=

Who is called the father of Indian Renaissance ?

(1) Raja Ram Mohan Ray (2) Swami Dayanand Saraswati

(3) Swami Vivekanand
WWWWWWW%?

o < AE (2) @t S gl
F’T@W (4) > fafaes AR

(4) Henry Vivian Derozio
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0s.

06.

07.

Who gave the theory of separation of Powers ?

(1) St. Augustine (2) J.S. Mill

(3) John Locke (4) Montesquieu

At gemnienReT 1 s e Rar ?

(1) € erfes (2) Slo THo fia

(3) S @6 (4) =R

Who wrote the book 'Hind Swaraj' ?

(1) J.L. Nehru (2) Maulana Abul Kalam Azad
(3) M.K. Gandhi (4) Subhas Chandra Bose
R< @ gew 3 dmsw @ & 2

(1) &= o Jes (2) HITAT YA FAH A

(3) e T FEES v (4) G99 I= 9

Dyarchy was introduced in India by which one of the following Acts ?
(1) Indian Councils Act. 1909

(2) Government of India Act. 1919
(3) Government of India Act. 1935

(4) Indian Councils Act, 1892

Wﬁmﬁwﬁr@aﬁ@rﬁmwmﬁmmm&m
T oYy ?

(1) 9Rd i sifafam, 1900

(2) ARG A A AfdftEm, 1919

(3) T WXDBR HT JAffrgy, 1935

(4) m??ﬁzrﬁfhﬁqﬂférﬁmr,lsgz

P.T.0.
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08. Who of the following was not associated with Swaraj Party ?

(1) Motilal Nehru (2) C.R..Das

(3) Vetthal Bhai Patel (4) Vallabh Bhai Patel

Frfaliaa & @ a9 @ aid] § T8 ST o7 ?

(1) wdina g (2) WloHRoI™

(3) fagerE g (4) avIH qIE 93|
09. Whose name is associated with Drain theory of Wealth ?

(1) Dadabhai Naoroji (2) Ferozeshah Mehta

(3) Rajni P. Dutt (4) V.D.Savarkar

‘arafer & frfa R’ & g @ o 3 7

(1) &m&T.4913 ARl (2) fBsTame Agar

(3) oIl 9 &9 (4) dloSio qraiaT

10. Marginal utility is equal to :

(1) Table utility minus average ultility
(2) Addition to table utility
(3) Table utility divided by number of utility consumed

(4) Total utility plus average utility.

A T aEr @

(1) T STAATT o7 3NFA TR

(2) FA@ ST ghE

) e ST A TR 6w aegelt H de
(4) &I ITATET T SN ST
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11. A consumer will be in equilibrium, when.

MU, P, MU, P,
1 >X —X <X
(1) MU, P, @ MU, Py
o MU P
(3) MU, B, (4) None of the above
SUHIRT T § B, o7

MU, P, MU, P

Bk X X

Wom, 7, @M, Y,

MIJX s P.\'
®) Mu, (4) SR F F HF T8

12. The demand curve for Giffen good will be

(1) Horizontal (2) Sloping downward right
(3) Falling backward left (4) Rising upward right
Rt 9erelt &l §Fr-g6 g
(1) &t (2) = S AR P gon

(SJHTEﬁGﬁTtﬁﬁﬁr{mgaﬂ (4)311&@'{@::331-“%3“

13. The real income effect of a normal good is
(1) Positive (2) zero

(3) Infinity (4) Negative

P W 9w A o e S
(1) TR (2) %;E.q
(3) s .(4J FOTHF
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14. The slope of the Price Consumption Curve (PCC) for a normal good

15.

16.

will be

(1) Negative (2) Vertical

(3) Backward (4) Positive

U% GG aEg @ g SEd ITHERT @1 S gl BN
(1) RO (2) g

(3) 9B & Sk (4) HHTHD

What is full cost ?

(1) Marginal cost
(2) Average variable cost + average fixed cost+ Normal profit margin

(3) Average total cost

4) Direct cost+ overhead costs
got @EE Fa § ?

(1) HH= AT |
(2) ofrrer aRFemster @ + ot Rer merer + @ ATy AR
(3) oIEd @I (4) TeHE QTSR

The expenditure minimization problem (EMP) is the dual problem of :
(1) Utility Minimization Problem

(2) Diminishing utility Problem

(3) Utility Maximization problem

(4) Increasing utility Problem
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7

18.

19.

Price discrimination will be profitable if the price elasticity of demand
in sub-markets will be :

(1) Same (2) Different

(3) Less (4) Zero

BT e et 2R af STe-ererT Su-amd 7 H o e
(1) Tk 999 (2) ATT-STT

(3) &7 (4) A

A monopolist produces output at that level where the elasticity of the
average revenue curve will be

(1) Less than one (2) Equal to one
(3) More than one ' (4) Zero

RIS Hed AR 1 Prafor o @y W ar § o o
(1) T & B9 (2) TH B IS
(3) Th H Afees (4) I

Which of the following is also called planning curve ?
(1) Long run average cost curve

(2)  Short run average cost curve

(3) Average variable cost curve

(4) Average total cost curve

ﬁwﬁﬁ%‘ﬁ!ﬁﬁﬂw’iﬁﬁﬁ%?
(1) <P o arrg o

(2) TP NET AR

(3) o aRdawshear @rmg am

(4) o feR @rd am

P.T.0.
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20. In the production of a firm the MP_is 5 and marginal rate of technical

21.

22.

substitution MRTSLk 1s 2 the MP, will be

Th B & IR & 7§ H9 FH T IdE 53 GE] & A A9

Bl STl | Tepiiieh ufereenmas @1 Giar<r &< 2 8, Gofl &1 S IdE
e

(1) 0.75 2) 2.5 (3) 1.002 (4) 6

The best average for the construction of index number is

(1) Mean (2) Median

(3) Mode | (4) Geometric Mean
ahihl &l T & U garan we

(1) HGH (2) HregHt

(3) Sg (%) j!“iiai{ e

In the least square, liner trend equation Y=a+bX, if the value of b is
positive, it indicates

(1) Declining trend (2) Rising trend

(3) No trend at all (4) All the above

<A o, Y1 ST FHIBT Y=a+bX, AL b B AT SIS

S & e =Zotar 2

(1) Prer Suwia (2) @ IR

(3) @ UL T () suda @l
93, "Statistics is a science of counting.” Who said it ?

(1) Webster (2) Boddington

(3) Seligman (4) Bowley

10
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“qiteFD T H S B 1 Aw wuT Reger T 7
(1) sy (2) dMfETes
(3) afrd= C (4) SR

24. Which stage of Statistical investigation function is not arranged in
ascending order ?

(1) Planning (2) Editing of data

(3) Collection of data (4) Analysis of data

mwm%ﬁww&ﬁ?mmaﬂﬁﬁmﬁ
T R ?

(1) SRS (2) @HH BT GEqE
(3) EH®BI I HepaT (4) GHET P fageyor

25. The value of coefficient of variation exceeds 100% when :

e T T A & 100% ST BIT E o
(1) o<X (2) &>X

B) o=X 4) o2X

26. Test of reliability of sample is called

(1) Census test (2) Stability test

(3) Reversibility test (4) Unit test

ufeest 25 faeawiiaar =t sitg weamh &

(1) &romr ?rﬁab (2) e g

(3) SohEIAT Sy (4) 3HE Sifg
11

BT 0.
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27.

28.

29,

30.

Ogive curve is drawn with the help of :
(1) Tallies

(2) Median

(3) Cumulative frequency distribution
(4) None of these

HSgg gep Grar ofar & & &Il -
(1) FATEgart
(2) HEHH

(3) HEA srgfy faawer
(4) zE &/ W

In the case of perfect correlation

qof FEe @ g9 |
(1) bxy=byx (2) bxy=1/byx
(3) bxy=byx=0 (4) bxyxbyx

In the case of two variables there will be only one regression line, if :

(1) r=0 (2) r=+1 only

(3) r=-1only (4) r=+1
aaﬁaﬁﬁaﬁﬁ%ﬁwﬁmi@é‘nﬁw:
(1) r=0 (2) r=+1 Hadl

(3) r=-1 Hadt (4) r=+1

The farther the two regression lines from each other, the degree of

correlation will be :

(1) lesser
(3) Zero

(2) Greater
(4) Does not matter

12
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31.

32.

33.

a1 S Y@ U e Rt g3 Sl o, qeesy 99
HET I 8

(1) =4 (2) Sifep
B) 3 (4) T B TS

There will be only one regression line in the case of two variables, if
correlation is :

(1) Zero (2) Perfect

(3) High (4) None of these
aaﬂaﬁﬁuﬁﬁ%aawam?ﬁw%@@ﬁuﬁﬂaﬂﬁm%:
(1) = (2) ot

(3) oTyfeep (4) =T B TSt

If coefficient of determination is 0.36 then what will be r :

aie P o 0.36 8 @ g VRIS I

(1) 0.5 | (2) 0.4

(3) 0.7 (4) 0.6

When two regression lines intersect each other at 90° angle, the coef-
ficient of correlation between X and Y will be :

(1) Positive (2) Negative

{3) Zero (4) All the above

aaaﬂ?ﬁmm%mﬁ”%tgﬂiﬁgouﬁ‘rm%ﬁwwm%,ﬁa
X TY & &9 gEwry o ap:

(1) &TeTs (2) %
SO S (4) g gt

13 PTO.
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34. In the case of normal distribution B, is :
(1) Zero (2) Less than 3
3) 3 _ (4) Greater than 3
qarr de a Rafa # p, Sr ®
(1) A (2) 39 HH
@) 3 (4) 39 31f¥p

35. Chi-square test should not be applied if N is less than :

FE-at St &1 94T TE w7 9ifR], A N & A q &F ©
(1) 35 (2) 10 (3) 50 (4) 100

36. Analysis of variance technique is originated in

(1) Agrarian rescarch (2) Industrial research
(3) Biological research (4) Medical research
THR fagaer dehts H ST g8 o

(1) FHiy-ge=ft i (2) olenfes Y

(3) STa TasiF-w=El N (4) AlSHa MY

37. Multiple correlation coefficient lies between
ST FEEEy d T e ¥
(1) +1 (2) Oto-1
(3) +1to0 (4) zlto-l

38, Under which theoretical distribution having know only the mean value,
. all the other constants can be obtained :

(1) Binomial (2) P"‘f”fso‘;
) Normal [4) Unifor

14
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39.

40.

Fhe HIf=eh g2 & T<TIT had 9ed ged Sd e 9T o7 g
STEih (STeR ) by o qea &

(1) faux (2) wiEEs

() HE™EH (4) SAFATBR

The probability of getting at least two heads in a simultaneous throw
of three coins is :

o Tent B T T SERe W de @ 9) Rig o & iR
2

(1) % @) 4 8) % (4) X
Non-sampling errors

(1) Cannot be estimated easily

(2) Can be estimated easily
(3) None of these

(4) Al of these
R-uftreEe fram
(1) gRargdes srgafra =& e o w=

(2) gaegds sty B o we
(3) 3 q P =&

(4) SIET Tt

15
P.T.0.
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Short Answer Questions
7Y IIT g7

Note: Attempt any five questions. Write answer in 150-200 words. Each

01.

02.

03.

04.

05.

questions carries 16 marks. Answer each questions on separate page,
after writing Question Number.

forgl gt ueAt B SOX difvie | g% U # SmX 150-200 =T F
QITT | % 999 16 3ieht &l 2 | T U9 T ST ST U g
99 HE&AT [t g% &Y |

Explain the pragmatic approach in the market demand analysis.

TR AT B AT § angeiits gfedior d ST S |

Explain Cobb-Douglas production function in relation to Euler Theo-
rem.

qeT g B T HE-SIEE IE e Bl ARl I |

Comment on Gross Domestic Product (GDP) at factor Cost.

e @ O Heh SXq Sere W) feepelt whifre |
Distinguish between intermediate goods and final goods.

wwa?ﬁa?@aﬁamaﬁ\wa?gaﬁﬁwwaﬁﬁml

What are the components of the Gross Domestic Capital Formation ?-

Waﬁ@l‘iﬁﬁﬁﬂﬁ%ﬁﬂﬁﬁw%?w

16
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06.

07.

08.

09.

10.

How would you measure change in the value of money ? Explain.
HET % o9 § uRdad &1 09 oy 9 w3 ? gHesu|
Explain objective factors affecting consumption.

STHRT 1 AHIAT BT T TEGTT BIHI HI AT HIAT |

Explain monetary measures to control trade cycles.

NR I Mat=a & AfEe ade @ e S |

Discuss the causes responsible for fluctuations in exchange rates.

ﬁwaﬁﬁ‘éﬁﬁaﬁmﬁ%qﬂﬁaﬁa@mw;

Explain full capacity role of growth,

fIere ! ol &HaT a7 )t s G

17 200



RET/15/TEST-B 859/Eceamic:

Question No. Page {or Shiori Answer
U Hem g SdY B Rm g
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